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SH6E 120 120 115 95.8 5 2 40.0 125 117 93.6(92.4) 454 194%
S5 101 101 97 96.0 5 4 80.0 106 101 95.3(91.6) 234 841
SHAE 107 107 104 97.2 1 4 57.1 114 108 94.7091.7) 25431 114
SH3E 115 115 111 96.5 7 2 28.6 122 113 92.6(91.4) 434 214z
SH2E 106 106 106| 100.0 22 6 72.7 128 122 95.3(92. 1) 23431 T
ER31E 110 110 93| 84.5 15 9 60.0 125 102 81.6(89.0) 764 4341
E30E 116 116 106 91.4 1 6 54.5 127 112 88.2(90. 1) 631iL 374L
FEk29%F 115 115 107 93.0 1 8 72.17 126 115 91.3(88.7) 324 1943
E 284 101 101 94 93.1 8 4 50.0 109 98 89.9(91.5) 5641 314L
Ek21E 113 113 109 96.5 9 5 55.6 122 114 93.4(91.2) 27451 1243
SERR265 96 96 90 93.8 8 5 62.5 104 95 91. 4(90. 6) 394i1 194%
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SF6E 15 15 15 15 100.0 95.7
SH5E 14 14 14 14 100.0 93.7
’%*Mﬁl 1 16 17 1 16 17 100.0 89.3
SH3E 14 14 14 14 100.0 94.3
SH2E 18 18 18 18 100.0 91.5
RiEEn | EmsiE 16 16 16 16 100.0 81.8
TRE305 1 15 16 1 15 16 100.0 81.4
TRk29% 14 14 14 14 100.0 90.8
TRi284 2 26 28 2 26 28 100.0 89.8
TRk215 8 59 67 8 59 67 100.0 99.4
TRi26% 3 62 65 3 62 65 100.0 86.5
SH6E 5 5 5 5 100.0 98.8
SHSE 3 3 3 3 100.0 95.6
SHAE 4 4 4 4 100.0 99.4
SH3E 3 3 3 3 100.0 99.6
SH25E 6 6 6 6 100.0 99.4
BIEM | TRSIE 5 5 5 5 100.0 99.6
TRE305 6 6 6 6 100.0 98.7
TRk29% 6 6 6 6 100.0 93.0
TRi284 6 6 6 6 100.0 99.8
TRk215 5 5 5 5 100.0 99.9
TRi26% 6 6 6 6 100.0 96.9
SH6E 63 63 63 63 100.0 87.8
SHSE 4 58 62 4 58 62 100.0 90.8
SHAE 2 60 62 1 1 2 60 62 1 100.0 91.3
SH3E 4 54 58 4 54 58 100.0 90.4
SH25E 2 56 58 1 1 2 56 58 1 100.0 89.2
BEM |TRE 4 52 56 4 51 55 98.2 89.3
TRE305 3 53 56 1 1 3 53 56 1 100.0 91.0
TRE29% 8 49 57 1 1 8 48 56 96.6 88.5
TRi284 5 56 61 1 1 5 56 61 98.4 89.4
TRk215 7 50 57 6 50 56 98.2 90.0
TRi265 3 56 59 3 56 59 100.0 89.8




